
 

 

1. Fill in the Blanks: 

a) 4 × 1 = __ 

b) 4 × 2 = __ 

c) 4 × 3 = __ 

d) 4 × 4 = __ 

e) 4 × 5 = __ 

2. Circle the Correct Answer: 

 What is 4 × 3? 

• 12 • 10 • 8 

3. Match the Following: 

 Match the multiplication with its answer. 

a) 4 × 2     i. 20 

b) 4 × 4    ii. 8 

c) 4 × 3     iii. 16 

d) 4 × 5     iv. 12 

4. True or False: 

 a) 4 × 6 = 24  

 b) 4 × 2 = 10  

6. Picture Problem: 

 Count the number of apples in 4 rows. Each row has 4 apples. How many 

apples are there in total? 

  

  

  

    Answer: ____ 

Multiplication Table of 4 



 

 

7. Fill the Boxes: 

 Write the correct multiplication in the box. 

a) 4 ×  = 12 

b)  × 4 = 16 

 c) 4 × = 20 

8. Missing Numbers: 

 Fill in the missing numbers in the multiplication table of 4. 

 | 4 × 1 = __ | | 4 × 2 = __ | | 4 × 3 = __ | | 4 × 4 = __ | | 4 × 5 = __ | 

9. Word Problem: 

 If there are 4 boxes, and each box has 4 toys inside, how many toys are 

there in total? 

 Answer: ____ 

10. Pattern Question: 

 What comes next in the pattern? 

 4, 8, 12, __, 20 

11. Fill in the Boxes with Correct Symbols: 

 Which symbol will make the equation true? (Choose from +, −, ×, ÷) 

 4 __ 3 = 12 

12. Count and Multiply: 

 Count the total number of stars in 4 groups. Each group has 4 stars. 

                 

                 

                 

                   Answer: ____ 



 

 

14. Circle the Correct Number: 

 Which number is the result of 4 × 5? 

• 15 • 20 • 25 

15. Grouping and Multiplying: 

 There are 4 sets of 4 pencils each. How many pencils are there in total? 

 Answer: ____ 

  


